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Carefully fill in the necessary particulars on the
OMR, Answer Sheet.
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Put in your full signature on the OMR Answer
Sheet in the space provided.
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There are 40 Multiple Choice Questions in this

Question Booklet. You have to darken in the space
specified for Mathematics in the OMR Sheet.
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All questions are compulsory. Each question

carries 1 mark. No marks will be deducted for
wrong answer.
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Read the instructions provided on page 2 of the
OMR Answer Sheet carefully and do accordingly.

gdd U H IR fabeq (1,2, 3, 4) R ™ B
§TH ¥ HaY IUYTH IR DI AT T4 OMR IR
U3 IR Sleh—3le TEXT BIal B | AIell AT blell
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afia 21

Four options (1, 2, 3, 4) are given for each question.
You have to darken duly the most suitable answer
on your OMR answer Sheet. Use only Blue or
Black Ball-Point Pen. The use of Pencil is not
allowed.

qoTi®: 40
Full Marks: 40
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Adhere to the instructions provided in the
OMR Answer Sheet very carefully otherwise
your OMR Answer Sheet will be invalid and

it will not be evaluated.
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(1) uR¥a (2) Ay

(3) e @) A P T

\/g is a/an ...cceeeeeeeeeenns number.

(1) rational (2) irrational

(3) integer (4) none of these

V2 3R 3 @ fia e uRaa wer @
1 V5 2 /6

3) 6 @) o P A

An irrational number number between \E

and\/g is

M 5 @ 6

3) 6% (4) none of these

=1 A foaeT <everd y9R 9id 8hn?
1 9

M 11 2) 33

3 4) T ¥ BE @

Which of the following has terminating
decimal expansion?

m @ o

3) % (4) none of these

%a§ X BT IRTAIHIT B U= YT HEaT
2
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HE{T-9 ATOTC)

n % 2) %
3) @ 4) T N Bl T

The number obtained on rationalising the

denominator of % is

1 3
1 3 @
3) \/35 (4) none of these
/=1 ¥ ¥ @9 9guc 27
1) x+r @) x+42

(3) X+2/x 4 T PE T

Which of the following is a polynomial?
1) x+r @) x+y2
(3) xX*+2Vx (4) none of these

98US 3x -2 &1 ISP ©

(2 @ -3

3 3 @ -3
The zero of the polynomial 3x — 2 is
(I 2 2 -3

3 3 @ -3
(Y+2)® UOR | y &I [0Nd @
(1 @ 3

(3 4 4 5

The coefficient of y in the expansion of (y + 2)%is
(M 1 2 3

(3) 4 4 5

6x2 + 5x — 6 BT UGS B
(1)  (2x+3)(3x+2)
2)  (2x+3)(3x-2)
(3)  (2x-3)(3x+2)
@) T ¥ PR T

Factorisation 6x*> + 5x — 6 is
(1) 2x+3)(3x+2)

2) 2x+3)(3x-2)

3) (@2x-3)3x+2)

(4) none of these

10.

11.

12.

13.

14.

(-1,-2) fea agafa & Rera 27

(1) wH 2) faia

3) T 4) =g

In which quadrant is the point (-1, -2) situated?
(1)  First (2) Second

(3) Third (4) Fourth

fden® (-2,4) &1 4o 2
I -2 2 4
3 4,-2) @) T W PIg e

The abscissa of coordinate (-2, 4) is
1 -2 2) 4
3 4,2 (4) none of these

FHIHROT —2x + 3y = 6 DI oIl ax+by +c=
0PI WX a,bqd ¢ A I

(1) a=2,b=3,c=6

(2) a=-2,b=3,¢c=6

(3) a=-2,b=3,c=-6

(4) T A BIg Tl

Comparing the equation —2x + 3y = 6 with ax
+ by + ¢ = 0 the values of a, b and c will be
(1) a=2,b=3,c=6

2) a=-2,b=3,c=6

3) a=-2,b=3,c=-6

(4) none of these

THIBROT x +2y =6 BT UH & &

0 22 2 (2,-2)
3 2-2 @ (2,2
A solution of equation x + 2y = 6 is
M 22 2 2.2
3 @22 @ 22

afe =g (3,4) GBI 3y=ax+ 7 3Tl
R Rera &, a1 &1 A9 81

(M 2

3 “

If the point (3, 4) lies on the graph of equation
3y = ax + 7, then the value of a will be

) 2
3) “4)

q AR a4 ot Rig &3 faam a1 s+
ford 9 €, dEd ©

Wl A
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(1) v9g
(2) e
(3) (1)3R (2) = 18.
(4) T A PIY T8I
The basic facts which are taken to be true
without proof are called
(1) Theorems (2) Axioms
(3) Both(l)and2 (4) None of these
15. 55°®T Y& HIOT B
(1) 25° (2) 35°
3) 125° 4) 135°
The complementary angle of 55° is 19.
(1) 25° (2) 35°
(3) 125° (4) 135°
16. afx fodt Brgs &1 v HIoT 13008, a1 3
SIvll & HAfgHS®l & g Bl BT Bl
dHar
(1) 50° (2) 65°
(3) 145° (4) 155°
If one of the angles of a triangle is 130°, then  20.
the angle between the bisectors of the other two
angles can be
(1) 50° (2) 65°
(3) 145 (4) 155°
17. smafa #, afe AB|DE, ZBAC = 35°3iR
ZCDE =53 & dl ZDCE¥RIR @
B
21.
E
(1) 30° (2) 80°
3) 92 4) 102°
In figure, If AB|DE, <BAC=235" and
ZCDE = 53° then 2DCE equal to 22.
B
E
DH&(T-9 (0T

(1) 30 (2) 80°
(3) 92 (4) 1020

Ifd AB=PQ,BC=QR3IR CA=RP®, al
(1) AABC = APQR

(2) ACBA = APRQ

(3) ABAC = ARPQ

(4) ABCA = APQR

If AB =PQ, BC = QR and CA = RP, then

(1) AABC = APQR

(2) ACBA = APRQ

(3) ABAC = ARPQ

(4) ABCA = APQR

3yt ABCH AB=BC3ilk ZB=70" %, 9
ZA SER @

(1) 80° (2) 40

(3) 55 4) 45°

In triangle ABC, AB = BC and ZB=70°.
Then ZA is equal to
(1 80 ()
(3) 55° “4)
ADEFH /D= /F QT EF =4 94 3R DF
=59+ €, 99 DE @ 1S ©

(1) 23 () 39

(3) 4399 4 s3aH

In ADEF, 4D = ZFand EF =4 cm and DF =5
cm. Then the length of DE is

40°
45°

(1) 2cm 2) 3cm

(3) 4cm 4) Scm

AABC & fog e §f &t | 27

(1) AB+BC=>AC

(2) AB+BC<AC

(3) AB+BC=AC

@) A P T

For AABC, which of the following is true?
(1) AB+BC>AC (2) AB+BC<AC
(3) AB+BC=AC (4) none of these
1 4 feaw <Al faeof sver 8 87
(1) @i agds ) FEEg

(3) smad (4) FHaIH

In which of the following are the two diagonals
equal?

)
3)

Rhombus
Trapezium

Parallelogram
Rectangle

2)
(4)
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23, UH AgHgd & A BT 750, 900 AR 75°F |
SHST AT HioT B
(1) 90° (2) 95°
(3) 105° 4) 120°
Three angles of a quadrilateral are 75°, 90° and
75°. The fourth angle is
() 90° (2) 95°
(3) 105° 4) 120°
24, =1 anpfaal o 4@ fead 3y ga € IR
TR IR P & AR @RIl » 19 99 ]T
'41\_:[ urd 27
E o P<Q
T
s R S ‘I..Ih_,R
27.
In which of the following figures, you find two
polygons on the same base and between the
same parallels?
P Q (2) Q
2N \ P<Q B
T
S R S ‘I..Ih_,R
25. AABCH fd=g D,BC &1 99 fa=g @1 E, AD
$1 7y fd=g 2, 4@l ar(BED) RIS} @
() Gar(ABO) () Far(ABO)
3) %ar(ABC) 4) %ar(ABC)
In AABC, point D is the mid-point of BC and
E is the mid-point of AD. Then the ar(BED) is
equal to
() Jar(ABC) () Far(ABC)
(3) %ar(ABC) 4) %ar(ABC)
26. smafa #, afe ZOAB=40°8, a1 ZACB
e B
HE(T-9 (T{UTe)

(1) 50° (2)  40°

(3) 90° 4) 45°

In the figure, if ZOAB = 40°, then ZACB is
equal to

(1) 50° (2) 40°

(3) 90° 4) 45°

Jefqd &1 HIvT BIaT 2

(1) gABIT (2) f&H BIvr

(3) wHPIV 4) T I BIg T

The angle of semi-circle is

€] 2
3 “4)

amefa A, ABCD & a9 agdw 2| afx
ZADC=170° @I ZABC &I 94 2

acute angle
right angle

obtuse angle
none of these

A

100°
120°

110°
130°

(1
3)

2
“4)

In the figure, ABCD is a cyclic quadrilateral. If
ZADC =70°, then ZABC is equal to
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(1) 100° 2) 110°
3) 120° (4) 130°

29. Ul 3R WHR &) werar 9 =1 4 4
foa ST B AT GHa TEY 2?
(1) 37.5° (2) 40°
3) 225° 4) 67.5° 35,
With the help of a ruler and a compass it is not
possible to construct an angle of
(1) 37.5° (2) 40°
3) 225° 4) 675

30.  24/3 cm qOIT T WHATE Pl &1 &%
(1) 5.196 cm? (2) 0.866 cm?
(3) 3.496 cm? 4 1732 cm? 36.
The area of an equilateral triangle with side
2\/§ cm is
(1) 5.196 cm? (2) 0.866 cm?
(3) 3.496 cm? 4) 1732 cm?

31. 15 cm, 20 cm 3R 25 cm |l 91 s &1
A%l B
(1) 170 cm? (2) 150cm?
(3) 130 cm? 4) 120 cm? 37.
If the sides of a triangle are 15 cm, 20 cm and 25
cm, its area will be
(1) 170 cm? (2)  150cm?
(3) 130 cm? (4) 120 cm?

32. U® gaA™d forad) =8 15 cm, disSTS 10 cm
IR SATE 20em T, BT FoI yEI AFGA ©
(1) 1100 cm? (2) 1200 cm?
(3) 1300 cm? (4) 1400 cm? 38.
A cuboid whose length is 15 cm, breadth is 10
cm and height 20 cm, has total surface area
(1) 1100 cm? (2) 1200 cm?
(3) 1300 cm? (4) 1400 cm?

33. U WMo sl a1 7em e, &1 g
aA%e 8
(1) 616 cm? (2) 516 cm? 39.
(3) 416 cn?? 4) 3TH ¥ PIS TEl
A sphere whose radius is 7 cm, has surface area
(1) 616 cm? (2) 516 cm?
(3) 416 cm? (4) none of these

34. P g e <A 7 em R fd®
A8 10cm 8, T 9% YOI a9A%d @ 40.
(1) 220 cm? (2) 210 cm?

DH&(T-9 (0T

(3) 120 cm? 4) TTH I PIE TR

A cone whose radius is 7 cm and slant height is
10 cm, has curved surface area

(1) 220 cm? (2) 210 cm?

3) 120 cm? (4) none of these

TP g foraa S48 7em 3R a1 6cm
¥, &I 3Mgad 2

(1) 244 cm? (2) 254 cm?

(3) 264 cm? (4) T | DIg Tl

A cone whose height is 7 cm and radius is 6 cm,
has volume

(1) 244 cm? (2) 254 cm?

(3) 264 cm? (4) none of these

e g-rd fSEa) iE1g 6 m, ST 5 m 3R
$AlE 4.5m e, b1 A-AT &

(1) 145m’ 2) 135m’

(3) 125m’ 4) T I g &

A cuboid whose length is 6 m, breadth is 5 m
and height 4.5 m, has volume

(1) 145m’ 2) 135m’

3) 125m’ (4) none of these

JAi®s 2,3,5,2,5,7,5,4,5,5,6,5,4,1,59 5

P IRIRAT @

H 7 2 5

3) 4 “4 3

The frequency of 5 in data 2,3, 5,2,5,7,5, 4, 5,
5,6,5,4,1,5is

7 @ 5

3 4 4 3

frem fag TN| TN | @ s”arar 2
1y 7 2) 8

G 1 4 13

The frequency of tally marks | [N |is

1 7 (2 38

(3) 11 4) 13

JAfws 8,7,12,15,10,9, 11 &1 d91E0F 2
(1) 10 2) 9

3) 12 4 11

The median of data 8, 7, 12, 15, 10, 9, 11 is
(1) 10 2 9

3) 12 4 11

T RIad dl 100 IR IBTa1 R U 60 IR
g gidr 2, af fad @t yifear g
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1.(2)
8.(2)

60 40
M Fo0 @ 700

100 . .
3 100 (4) T A DY Tl
A coin is tossed 100 times and the tails are
obtained 60 times.

60 40
M Fo0 @ To0
3) % (4) none of these
Answer Sheet of 2023

Annual Examination
2.3) 3.2) 4.03) 5(2) 603) 7.03)
9.3) 10.(1) 11.(3) 12.(1) 13.(3) 14.(2)

15.(2) 16.(4) 17.(3) 18.(1) 19.(3) 20.(3) 21.(1)
22.(3) 23.(4) 24.(4) 25.(1) 26.(1) 27.(3) 28.2)
29.(2) 30.(1) 31.(2) 32.(3) 33.(1) 34.(1) 35.(3)
36.(2) 37.(1) 38.(3) 39.(1) 40.(2)
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